2nd		5-14-14	
Assessment Task for Place Value 


Pencils are packed 10 in a box. A classroom carton has 10 boxes.

A) Jenni has 1 carton and 5 boxes. How many pencils does Jenni have all together?







B) Levi needs to pack 230 pencils. How many boxes does Levi need?








C) If Levi puts the boxes in cartons, how many cartons can he completely fill?







D) [bookmark: _GoBack]Ms. Kennedy needs 10 pencils for each of her 25 students. How many pencils does she need? 






E) If she can only buy boxes, how many boxes does she need?

